ol
S

—_

0
B0

9|

!

~
To°

Njo

oln

8o
o

<A
T
Hlo

i

Gl

U
A




oln




3.

Oh& 1ROl x o gh2?

AABC &}t AEBD ©f| A
AB:EB=9:3=3:1
BC:BD=12:4=3:1

(BE 5%

.. AABC @ AEBD (SASH-)
AC:ED=3:1°E26:x=3:1
3x=06

L x=2




AABC @ ADFE(AA )
AB :DF = AC :DE
AB:a=6:9

9ﬁ26a,ﬁzga




5. & I8 A /BAC = /ADC = 90° ,AC = 12cm, CD = 8cm ¥
o, BD 9] Zo|& 45}4?

@ 1l4cm @ 13cm ® 12cm @ 12cm @mcm

AC2=BC-CD
144 = (x+ 8) X 8
8x =80, x = 10(cm)




AABC o AEFD o|BL 2




ot 1o A AABC OAEFD ¥ W], ADEF 2] S8 9] Zo]&=?

CA:DE=4:6=2:3°]1 AABC 2 2] do]7} 3+6+4 =

130|B.8 ADEF 9] 70| Zol=2:3 = 13 : x, TabA] x — %

olct




8.

® 2 @ 4 ® 6 @8

ok 23olA AB=6,CD =9, DE = 12 & o, x o] #27?

® 10

(BAC + /BCA = 90°, /BCA + /ECD = 90°
(ECD + /CED = 90° °o|B&.&

(BCA = /CED, /BAC = /DCE

. AABC ACDE (AA H+)
AB:CD=6:9=2:3°22 x:12=2:3
T x=38
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10.

AABC 9} ADEF &= &
4cm, DF = 9cm

A
B “3cm
’ CH cm
2
> g 17@
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M= 2,
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1A A= w5ol oft.
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12.

(G2l o) = 27rh = 27 x 6 x 14 = 1687(cm?)




